4A 03-18-10 March 18, 2010

Reminders 03-18-10:

-POW 8 Due Next Thursday

-Short Quiz Today on Energy Level Diagrams.
-Exam 3 Ch 7,8, and 9 March 25. No Makeups.

Objectives:

-Conservation of Momentum
-Types of Collisions
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What happens in this instance?

The motion of the center of mass follows the
parabolic trajectory of a projectile.
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two parts of same mass at its max.
gaieight calculate range of fragments
m EMEH one of them falls straight down (see example 9.18).
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Example 1:
Two particles of equal mass and speed travel in
opposite directions have a head-on collision, and

stick together. What is the speed of the system after
the collision? (tech)
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Example 2:

A green particle has a mass of 2 kg and an initial
velocity of 1 m/s to the right. It collides with a

1 kg red particle traveling to the left at 1 m/s and
they stick together. What is the velocity of the
system after the collision?

.__—a\,
Z%- 23, '
m\vu“' mN&b: (/m\‘* mh\\!f
\lg - W\\\lt.;\- m\-va\'.
M, + My

- (203): (1)

Ve -
= —al,-;\wls ‘{'O k\(}\‘)'




4A 03-18-10 March 18, 2010

ZJ\Q& Lu (,Dl:\ \Slons
2 obyects cbu,& MasS
Q%\N.Q bp&u—'
op¥- day.
2 P20 = MV ¥ M =0
\’l-{ AN =0
K\V\-;)Y\-.\— EV\M%‘] CMY.
%:m Vo4 7\;vm\;1 = J—m\\/ﬁﬁ‘;m‘_vﬁ
MV T = £ MVt
QVL: \l; + V;
V‘{'\ VJ“: ’—D
\‘\‘ -."\]ﬁ b \/



4A 03-18-10

Example (with problem solving steps):
A 2 kg mass is traveling to the right with a speed of
2 m/s and runs head-on into a 1 kg mass traveling

to the left at 1 m/s. The collision is elastic. What
are the speeds of the masses after the collision?
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